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1. Define the term ‘economic development'. Statetthe bases of measuring economic
development of a country. 1+1=2

‘e o e @t afemear Sifsra ) fRet 39T & onifele faeer & wTow & & STEmRT @
I BT |

2. Whois adisabled person ? Gomeexample each aivo types of disabilities. +1

I afed 58 Fed € 2 St YR & famaanst & Uh-Us Sereder

3. Write anyfour facts about tsunami. O 4xY5=2

T & v § 9R qe wd A @ o

4. Explain how Indian industries and trade had b @mder the British rule in the
eighteenth century. 2
fafesr mEe & STefM YRA™ TERT iR &R K H fhg YR qdrE & Y
T HIWT |

5. Explain anytwo main features o%n culture. 2x1=2
U BT Al fhol &t 3 Bl T BT |

6. Name the n her&tern, southern and western nlost stations of Golden

Quadrilateral s nétional highway. 4xY5=2

TSI Femit & g 9o, i, el qen ofyedt Rem & am

do the means of mass communication play a vital role in creating awareness
ong the people ? Explain. 2

TEAR & Aree e YRR ARl H AT 9aT e § "Eaqel e ME € 2 '
BT |
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8. Identify and name the social reformer shown in the picture given below. State any
two contributions made by him. 1+1=2

wﬁnﬁwwaﬁwﬁxaﬁmﬁqﬁmw%nw@%ﬁ
TS T S it |
Note: The following question is for tH&lind Candidatesonly in lieu of 8.

e ﬁlﬂﬁﬁdﬁgﬂiﬁaﬁ{&'@?ﬁm%mgﬂ%@ﬁﬂ%l
ar

State any twacontributions of Ishwar Chandra Vi reforming Indian

society. 2x1=2
IRA TS & IR 9 29R) o5 [GEmErR & 6 I B |
9. ‘Indiais a multilingual country’. Justify the state rguments. 2x1=2

“IRT TEATHT I & I T I @ HAA

10. “Wells and tube wells are the most
India " Justify the statement witivo arg

aﬁ?ﬂﬁang%wﬁ
éa»‘{sﬂaamaﬁwrawm

eans of irrigation in northern plains of
2x1=2
® T AR BT AT £ g b

11. “Health sector interplay st S|gn|f|cant role in human development.” Justify
this statement wittwo nt 2x1=2
‘e & W A jfaaiiees TewEyel dREE 17 @ a% died Saw! AEEITd
gfte i |

hl&] should be borne in mind while selecting a site for a building
2x1=2
FAM & [T T H 999 B 9T AW § W@ ARG & aA

12. Suggestwo

ribeanyour characteristics of subsistence farming. 4x1=4

OR
scribe anyfour steps taken by the Government to improve Indian agriculture after
Independence. 4x1=4
A aiE HU & fhel TR ELwarst w1 au Hig |
AT

Al % 918 IR HY § gUR &g TR ERT Jo MU fhwal R SuEl & 99 iy |
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14. Describe anyour major problems faced by cotton textile industry in India. 4x1=4
IRA | gl a8 FART & qHel YR {hel AR YH@ FHESA &l 99 HifT |

15. Describetwo different approaches by which the number of the poor are estimated in
the country. 2+2=4

R M EA T2 WS £ G o R G 1 o MR R A e e e el

16. “The revolt of 1857 marked a turning point in the history of India.” Su

statement by givinfipur facts.
OR
When was the Muslim League formed ? Explaithitse main objectives.

“1857 & HEIdElE ¥ YRd & 38 § Uk =47 HIS 3T 7 9] aeF ad FHIT Pl

gfte i | 2
Jgar

qRerT T A O @ g 2 Tad A SRedt A @

17. “Coal is the main source of energy as we material for industries in India.”
Support this statement wittvo facts for e 2+2=4
“URA H B Sl B & A a1 [ % f0 ear A1@ ff 817 99

& foro -8t d I U T FUA

18. How does communalism pose a t to our national unity ? Explain. 1+3=4

Wﬁﬂ»‘cﬂ%ﬂﬁﬂ@ﬁ?@ e yepR It W Rl § 7 W i

‘Veto® e arfgur countries which have veto power. 4x1=4

W o1l T pifoT | il fed aRe fhel 9 S & AT 9qeu |

managed at different levels ? Explain with one example each, from
4x1=4

19. Explain the ter

20.

OR

yfour objectives of a search and rescue team.

faft= =R W fhe YR fhar rar & ¢ fhel AR TR 8 UH-Uh SETed
BT W HINT |

Agqr

I 3R 9919 g & (el g g9l i T Hifory |
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21.

22.

23.

24.

When was Indian National Congress founded ? Who played the most important part

in its formation ? Describe the main objectives of the Congress. 1+1+4=6
OR
Describe angix factors that were responsible for the rise of ‘extremism’ in India. 6x1=6

ARATT TS HIUF & TIOAT 6 g3 7 IHbI 0T | fohae qa9 3fered qeaqel qfHe
g " % qeF Sesdl H AU I |

Jrgar
ARA § YT & IT & SRl fhel B: BRI B U HIOTT |

Why is the conservation of resources essential ? Explainttaeg me of
conservation of resources. +3=6

OR
“Water is a very important and critical resource in India”. Suppf@statement by

explaining anyhree points of each. 3+3=6
AT BT T T AESF & 7 TATLHT b GRET & foheol | BIGATET FHINT |
AT

Wﬁﬁﬁﬂgﬂﬁwsﬁ?ww%r’ el i fagatt
N AT HA B 3H R I gt HifT |

Explain with suitable examples the impact ansion of business activities in
an economy. 6
Why is the rise of consumer awar ntial ? Explaifioanymeasures to
protect consumers’ interest 2+4=6
WaWﬁWW & JuEl B IUGH SAETN BRI T
BT |
SUHRBIST § ARl 30 ’ Qw%?wﬁ?ﬁraﬁ%%ﬁa%gm%ﬁﬁﬁaﬂ

SURT W HIRT | @
@ (@) On the,givenfaglitical outline map ofdia, the place is shown by No. 1, where

Co was split in 1907. Identify the place and name it on the line drawn.

me map shade and name the state where Jallianwala Bagh
occurred. 1+1=2

given political outline map tidia, four geographical features A, B, C

re marked. ldentify these features with the help of the map key and

heir correct names on the line marked against each in the map. 4x1=4
OR

n the given political outline maploidia locate and label the following features:  4x1=4

() Kanpur - Cotton Textile Centre

() Kaiga - Nuclear Power Station

(i) Haldia - Oil Refinery

(v) Kandla- Seaport

(i)
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@) () fRu U AR & Torifos W-AERE § g @ 1 g1 SH W &l REEn @
T W&t 1907 ¥ HIUF H fTHE g1 T H TN SR IH TN T A
AHRT W @il T8 W@ ) ke |
(i) & AERE W I T H BEIRT ST iR IqHr 19 fafay st Aot
qET geAT =€ |
@) U MU R & Toiie W-AFRE W AR Gl @6 &, @, T AR T w0 e
fopar T & | At | € TS gl WeE | 9 @Ol bl Uedney iR 39k
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Srgar
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I fafey -
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@) N — iR o @ °
(i) efegar — @ RIS
(V) PrEdr — T
Note: The following question is for thBIind@only in lieu of Q. No. 24
(a) and (b). 6x1=6
() Name the State where Jalli la ineident occurred.
() Name the place wher esS'was splitin 1907.
(i)  Whichis the leadin ducing state ?
(v) Whichisthe easté@rn t al station of ‘East-West Corridor’ ?
(v) Name the interna air-port located in Gujarat State.
(vi) Nameth ré Technology Park located in Uttar Pradesh.
e : frfafaaeasT et & fow uew "emr 24 (3) SR (@) & e

¢

AN " fhw T H Hfed gg e

T &7 A9 gAY Fel 89 1907 H HEE P v gem |
Thedl H q94 TE IAEH 9T B a1 & ?

(v) ‘ge-ufyaw Tfear’ @ s bt ®9E hF 61§ 2

(V) o TS H T SRS g Bl A ey |

(Vi) TR g H Reg dTreamR denfiet gtk @1 A1 SqiE |

W E
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Q. No. 24 (a)
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Q. No. 24 (b)
Y. |.24 (%)
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OR / gar

Q. No. 24 (b)
W. ¥. 24 (®)
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